
Kurvendiskussion 

 

𝑓(𝑥) = (𝑥 − 1) ∙ 𝑒𝑥 

 

1. Ableitungen 

 

𝑓´(𝑥) = (𝑥 − 1) ∙ 𝑒𝑥 + 𝑒𝑥 

𝑓´(𝑥) = 𝑥 ∙ 𝑒𝑥 

 

𝑓´´(𝑥) = 𝑥 ∙ 𝑒𝑥 + 𝑒𝑥 

𝑓´´(𝑥) = (𝑥 + 1) ∙ 𝑒𝑥 

 

𝑓´´´(𝑥) = (𝑥 + 1) ∙ 𝑒𝑥 + 𝑒𝑥 

𝑓´´´(𝑥) = (𝑥 + 2) ∙ 𝑒𝑥 

 

2. Nullstellen   

 

𝑓(𝑥) = (𝑥 − 1) ∙ 𝑒𝑥 = 0 

 

    
(𝑥 − 1) ∙ 𝑒𝑥 =  0 

𝑥 − 1 = 0 

𝑥 = 1 

 

𝑁(1|0) 

 

3. Extrema  
 

𝑓´(𝑥) = 𝑥 ∙ 𝑒𝑥 =  0 

 

𝑥 ∙ 𝑒𝑥 = 0 

𝑥 = 0 

 



 

𝑓´´(0) = (0 + 1) ∙ 𝑒0 > 0 => TP 

 

𝑓(0) = (0 − 1) ∙ 𝑒0 = −1  

 

𝑇𝑃(0| − 1) 

 

 

 

4. Wendestellen 

 

𝑓´´(𝑥) = (𝑥 + 1) ∙ 𝑒𝑥 =  0 

(𝑥 + 1) ∙ 𝑒𝑥 = 0 

(𝑥 + 1) = 0 

𝑥 = −1 

 

𝑓´´´(−1) = (−1 + 2) ∙ 𝑒−1 = 0.368 ≠ 0 => WP 

 

𝑓(−1) = (−1 − 1) ∙ 𝑒−1 = −0.736 

 

𝑊(−1|−0.736) 

 

5. Verhalten für 𝑥 → ±∞  

 

lim
𝑥→+∞

(𝑥 − 1)⏟    ∙ 𝑒⏟
+∞

𝑥 =

+∞

+∞ 

 

lim
𝑥→−∞

(𝑥 − 1)⏟    ∙ 𝑒⏟
0

𝑥 =

−∞

−∞ 

 

 

 

 

 

 



 

 

 

 

 

6. Skizze  

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 


